Exam 1 - MATH 4317

Show all your work.
Section AU or AG?:
Last name:

First name:

list the 3 problems you want graded:
Problem 1 (5 points): Show that the subset of R? given by {(z,y) € R?: z > y} is
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Problem 2 (5 points): Let S be a subset of the metric space E. A point p € S is called
an interior poi thfth 1sanp n ball in E of center p which is contain d'S
Pro thtth set of interior points of S is anp subset of E (called the interior of S)
tht tmnsall other open subsets of E that are contained in S.
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Problem 3 (5 points): Pro at a subset of a metric space is closed if and only if it
contains all its cluster points
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Problem 4 (5 points): Let E be a compact space. U;, i € N be an infinite family of
non-empty open sets such that U; NU; = @ if i # j. Show that this family of open sets
E.
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